WAER$E—FRESE HhES

ek (3)

. IR
1. %?IH’JT (@ —4)2" + (a+2)z — 1 > 0 ARG Z =4, IS o VSN ( )
A (-2,9 B. [-2,% C. [-2,9 D. {7371}
5 5 5 g
K)_fu+:ZX<{ W (log3) = ()
A —23 B. 11 C. 19 D. 24

3. EHIBRELf (x) =a™"™+7 (a>0 H a#1) WERELES P, HELPEFRE ¢ () FE%R L, W&
PREL g () E‘Jl@?’f\m

4. 825 f (x) =1g (10+x) +1g(10—x), M £(x) & ( )

f(x) 2 &7 pR i, HL7E(0,10) 23 pi %
f(X) 248 PR, HL7E(0,10) 4% o
f(x) @ B2 HLAE(0,10) 42 ik bR 2
FOx) A2 18 BRZL, - HL7E.(0,10) A2 ik p8 21

S o W=

5. BREL f(x)=~-1-Inx f5E 82

6. R, < LI (ole < oo > 3}, 4 a - b T

7. CUR () BYRE SO0 =2 4], WU £ (3 — 4) [ 5E SN

8. CLHIBRAL f(x) = log,(«* — 2ax) 1E [3,4] L3 s KL, M o HIBUEVE 2




MEFPZE-FREFH HHEY

9. CHIES A= {z|0 <ax+1<5}, B={:c{—%<z<2}_

(1) #5 A C B, sRS2H o [ HUE TG
(2) 7 B C A, SRS2H o (BTG
(G) 424 4, BRETSHIZE T25RE, SR afOME: FANRE, 15T BFE .

10. IR f(x) = log, 2 (a>0 H a#1) HEF
(1) 3RS %L 0 5 m ({1 5
(2) %%Xiﬁ%&%ﬁ £ ) B

3)%4:7%}531” ) +1<0.




MEFPZE-FREFH HHEY

21‘

UL 2 S 11 EH AT RREf @) 50 <o SURT, fo) = 5,

(1) 3K f2) 7F [-1,1] Bt
(2) FIWTIFEW] f () 76 [-1,0) LA HL S

9° e .
= 2" —m = 0f M, RS m IETE .

3

(3)) e (0,11, JrfE



WAER$E—FRESE HhES

12. CHIRH f(x)=ax’ +bx+1 (xeR) , (a bRNEED.

(D #fM)=0, HRE ) ERA04+0), R f(x) LR

(2) 7 () WEMT, #HXT X[+ ) =1 =m|x =1 R —AS2¥i, RKse¥om wymuse .
(3) 16 (D) fIZMET, REH ) =21 (x+1)+x|x—m|+2m F/ M.




WAER$E—FRESE HhES

e /NG (3) BT
. R

1. 9%? o AR (0 — 4)2® + (a+ 2)z — 1 > 0 ARG 2 4, S o VS RN ( )
A (-2,9) B. [72,2) C. [-2.5)

[5XEX] B

e QMe?—4=0,ffFa=2a= -2, Y q=2H, & I\AE,]fﬂéFﬁjjT>* AFFA R

Wa= —2 0, AR —1 > 0 RHE, L a= —2 7 & %

=2}
[=2]
-
—
|
| &
|
—_
[ R |

sy 2 A ) — (02 — A)p2 _ > f-4<0 Vgl
@ Ko’ —4A0W, & flz)= (" —4)z"+ (e +2)2 -1, f(z) 2 0FENTE, )'HA{ - +2) + 4(a? 74)<0ﬁ+%
72<u<g),

p 6
HOQWR -2<a<, DB,

2%«@={§?§ﬁx<4,mf<m&wz< )

A. =23 B. 11 C. 19 D24
[Z%5X]1D

3. BB f (x) =a™"™7 (a>0 Ha#1) HEZRELEA P, AES PARE e O MBS LE, NE
B g (x) Eﬁ@%lnz

A. B.
i
of
r, o
C. D. ./
[B5ZK] A
@ HfR BRI TR PoCl6, 8), S.8=16", .'.a:& g (x) =0, SHEISRE A Bk A

1
4. B850 f (x) =lg (10%x) +1g (10-x)5 M £ (x> & ( )
A fOO R FFEAEL,  HTE(0,10) /23 b 4K
B. o) pR%L, H7E(0,10) 24 bR 1
C. fO)2rreR4l, H1E(0,10) 2 ik ik %L
D. f(x)/& k%, H7E(0,10) 2 I k%L
[Z3E£EX]D

104z > 0
i Ha{ 1utjj- L fF: x€ (10, 100, WERECE GO [N (10, 100, KT,

YH £ (-x) =1g (10-x) +1g (10+x) =f (x), WMEE £ (x) F{HEE,

M f (x) =1g (10+x) +lg (10-x) =lg (100-x"), y=100-x"7£ (0, 10) Ik, y=lgx £ (0, 10) 34,
HRE £ (O fE (0, 10D 3K, #ikD.

L A

5. B f (x)=~—T—Inx H5E U2 . IBEEE] (0,
axr
— <1 X >
6. ARy — 1 frifgey {ele <o >3} go o - bl T . IsEER]
: 2
B A SRR T = LR, - 30 =3-1=2, ~a=2, - 37 _ | @ o>3ke <1, #b=1,

x—1

2 1 . 1
Ra—-b==—1=—2, &N —=.
i a 3 3,& 3

7. B ) s S 2 4 G — 4 i SO - smEs [




NP FE—FREFH HPEY

| co

R AL () BE SN (-2, 4], o -2 <3 -4 <41y

L BREL (B — 4) 1 5E SO [— —} HMERN [— ﬂ

8. CLHIBR AL f(x) = log,(2* — 2ax) 1E [3,4] L3 R #L, M o HIBUEVE 2

Wl ne

<<

o

<

(sx5x1 (.0

f#: hEE S g(e) = a® — 2ax KIXIFREN © = a.

@ FHa> 10, mEA@§&Eﬁ$1H PERII, gle) 76 (3, 4] B BIE, H g(z) > 048 [3, A 1E k0T

a>1 3
Iy 9*60.>O,.'.1<a<§.
a<3

@0 < a < LI, R ARE R REERTR, g(z) 78 [3,4] LR g, H g(z) > 07 [3,4] 18

O0<a<1
I azd I a ANTEAE.
16 —8a >0
% ETE, 1<a <§.
ey s B
Eﬂlé‘%iﬂ(la)-
e
1
9. a%ﬂ%é\fl={$|0<a$+lé5},B:{:E\f§<xs2},

(1) #5 A C B, SKSH o FHUETE R
(2) 5 B C A, RSH o FHUETE R
®) fefr A, BRETTARSE 247 0e, RiH e Ml AN, TE VLT e
B (1) Ma =00, AFEERE, &%,
éa<0ﬁ‘lﬁA*{q4Sr{—l}

o

NACB, il

Firbla < —8;
R
ﬁa>0ﬁyﬁﬁA={ﬂ—l{xs—k

o

N AC B, [k 1” fifda > 2.
—gza
a

LR PR, 2 A C BN, SES o HUETE EZ {ala < -85k > 2}
(2) Ha=00, FFEHBE

a1
a 2 1
Ha <O FTbL = —<<a=<<0;
-2
o
1 i
__g _57
2 > 01, 4@ L0 <a <2
=D

45 g, % B C AR, 9:%a E‘JEME?E%{a|—%<u < z} »
BB M), BHMN Y a=2/, A=D.
10. CHIBH (@) = log, 20— "(a > 0, Hazt1) Jydriit, H£(1) = -
(1) R H o 5 m F1H;

BT,



WAER$E—FRESE HhES

(Z)ﬁﬁxtﬁéiﬁﬁﬂ B f () B LR
3)ﬁ¢7£f§f Sl .

2—zx
: m = =~ fle) =1 J——
fR: (Hm=1, .. f(x) By

Y f1) =1, - logué -, @ fBa=3,
(2) SR HL S (0) = logy 5 5 X3 (~2,2),
{EEL T, as € (—2,2), Hx1 <2y,

o) — Fzs) = log 2—m 2—a9 (2 —21)(2 + x2) (2—21)(2+ 1)
UI\IJ f(‘Ll) f( '2) - 10g32+1‘1 10g32+(L‘2 — logil (2+’L’1)(2 _-7:2) >1 g (2+ 11)(2_ 11)
: l%liﬁf(ﬂ)?f( 2, 2) B A
(3) s fif( )+1<O"Wcijf( i 1, "Wcijf( ) < f(1),
A (2 )%ﬂ@’ﬁf{f{ ) TE (-2, 2)$ﬁ1¥(}jﬁ

1
-1<2—<2 g —1l<a<0,

T%fﬁf( )+ 1 < 0HfEgEN {z| -1 <z < 0}.

11 SUHE [~1,1) AR S () R 240 <o < 1H, fla) = o)

&1
(1) 3R fa) 7€ [-1,1] - fgdr =X
(2) WAL f(a) 16 | 1 0) LI S

(3)) Hx e (0,1] 1, 757& p 20— m = 0 AT, BORSEEm (TUENG .

=logz1 =0,

i (B e-10),M-ze(01], f(-z) = 4—i+1 1 42:4},
1) RABL, - f(-3) = ~f(a), . F@) =~
2.!:
1+4,, € (0,1]
S fle)=4 0,2=0
z 1,0
et &L

(2)&*1€:E1<$2<0,
B __ 21 g22 _(21-22)@1%2-1)

(1 (2= 1+41+1+42 Toa+anQa+a2)
v < wg, L2 =2 <0y 2 <+ ra <0,
s20t 1 <0, flo) — f(z2) >0,

fla) £ [- 10)@&

2¢ - » i

(3) ﬂij( )—2 —m=0FM], m=4"+1-2"7 (0,1 LHR,

4o —¢,te (1,2, 2-t+1€(1,3],
somee (1,3].

12. CHEIERE f(x)=ax’ +bx+1 (xeR) , (a0 BNSEED).
(D % f)=0, HERH () K [0,40) ﬁﬂ@%%iﬁ
(2) 15 (D WFMHTF, HXRT xR f(x+)-1|=m — AN, SRSEm i EU R

(3) £ (D) MEMT, REHFAM)=2f/(x+D)+x][x~ m|+2mﬂi4\{g,
fB: (DEMa=#0 fH)=0 ..a+b+1=0

A x € R, Hf (x) 9 [0,+0) . A=b’ —4a=0
{a+b+1:0 {a=1 ,
tH = S f(x)=x"-2x+1

b —da=0 |b=-2
@ | fH) ~1=g(x) , B|x>—1|=m|x—1|, B x—1](x+1]-m)=0,
i x = 1 CR %A I,
BE TR — M, BVESRTRR | X +1|=m, # AU A% T 1 RS,
sA A m< 0.



WAER$E—FRESE HhES

() @Mx>m, h(x)=3x"—mx+2m
MWwEm=0, h(x),. =h(m)=2m"+2m:;

2
m

m
™y oM
&)=

min

D mEm <0, h(x),.
@3 x<mht, f(x):x2+mx+2m

2
m

mm%mzo,h@%mzm_%y}_z+mm
ADWRm <0, h(x),, =h(m)=2m"+2m:
2 2
m?m#+am—(—%%+mmzo ,2m—%%—(m#+am)so

2
2m —m—,m >0
Fred A(x) i =

2
2m—m—,m <0.
12



